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Function Arguments 7 (=]
PMT
Rate 7% = 007
Nper 16 = 16
Pv | 50000000 = 50000000
Fv I = number
Type [o =0
= -5292882.386

Calculates the payment for a loan based on constant payments and a constant interest rate.

Type is a logical value: payment at the beginning of the period = 1; payment
at the end of the period = 0 or omitted.

Formula result = -5292882.386

Help on this function [ OK ][Cancel ]
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Function Arguments ? =]
PMT
Rate |29% = 002
Nper |24 =2
Pv | 120000000 = 120000000
Fv I = number
Type 1 =1
= 6220129.089

Calculates the payment for a loan based on constant payments and a constant interest rate.

Type is a logical value: payment at the beginning of the period = 1; payment
at the end of the period = 0 or omitted.

Formula result = 6220129.089

Help on this function [ OK ][Cancel ]
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Function Arguments 7 (=]
PMT
Rate |1.5% = 0015
Nper 36 = 36
Pv I = number
Fv | 180000000 = 180000000
Type Io = 0
= -3807431.196

Calculates the payment for a loan based on constant payments and a constant interest rate.

Fv is the future value, or a cash balance you want to attain after the last
payment is made, 0 (zero) if omitted.

Formula result = -3807431.196

Help on this function [ OK ][Cancel ]
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Function Arguments
PMT
Rate 15%
Nper 7
Pv 100000000
Fv |
Type |0

"
o

() ) e ) )

Formula result = ($24,036,036.36)

Help on this function

Calculates the payment for a loan based on constant payments and a constant interest rate.

Type is a logical value: payment at the beginning of the period = 1; payment
at the end of the period = 0 or omitted.

= -24036036.36
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Function Arguments
PPMT
Rate
Per
Nper
Pv
Fv

Returns the payment on the principal for a given investment based on periodic, constant payments and a

constant interest rate.

Formula result = -13742681.8

Help on this function

(2=
15% = 015 -
4 = 4
7 =7 =
100000000 = 100000000
= - -
= -13742681.38

Pv is the present value: the total amount that a series of future payments
is worth now.

OK ][ Cancel ]
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o rlal
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A3l e B3 V) LLLS S

pV e Md ‘\'kn.nnn_nuu
N A s 3
[type] 33 sl st O o
JLL)Y/\YVOOYV - JJ:!MJA&J
PMT
Rate 17% (] = 017
Nper |11 6 - n
Pv 160000000 [Es5] = 160000000
FVI :numbef
Type |1 B -1

= -28275527.06
Calculates the payment for a loan based on constant payments and a constant interest rate.

Type is a logical value: payment at the beginning of the period = 1; payment
at the end of the period = 0 or omitted.

Formula result = ($28,275,527.06)

Help on this function [ ok || conce |
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Function Arguments (7] =]
IPMT
Per |7 =7 A
Nper 11 = 11
Pv | 160000000 F%| = 160000000 -
Fv =
Type |1 e = 1 -
= -15378743.83

Returns the interest payment for a given period for an investment, based on periodic, constant payments and a
constant interest rate.

Type is alogical value representing the timing of payment: at the end of the
period = 0 or omitted, at the beginning of the period = 1.

Formula result = ($15,378,743.83)

Help on this function OK ] [ Cancel
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IRR(values, [guess])

s S350
i g 01 j3slasl oS el LSt gls sk 5l adlane G sl values

e e & Juls Blas b oS slael (6w SO L el s
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o e ol S el (A3 633k 2 5 e 1 Lk [guess]

e

s el 038 55l 3 pl gl S e 2B A a0l [ slael =Ll
LS s ls sl

Al (51 el g 5 e Oles il 5 Jste o il B ol 55 Sl

Il 53555 5 Jup Ve e v bl adol s 2 48 (5108 aule o SO 13 0330 & 5

VALUES 55 55 «ausl JL, 80000 Of pss Jla (63555 5 L5 Ve e ol Jgl

3 esls L@l Uk sl b 5 43 a2 5 {-100000,70000,450005 = Le L
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el G O sl brd osle
Jls
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A

1|44y s 4asm (500,000,000)
2| 1dwsas0s 100,000,000
3| 2dwsas 125,000,000
4 | 3Jdusass 200,000,000
5| 4Jwsesus 100,000,000
6 | 5Jduwisas 85,000,000
7| 6Jdhisasus 160,000,000
S35, JlAda
values cb}buoaﬁb)\jdbu Jbg’.’)ﬁ)d"ﬁj‘ﬁ“’)b“‘Bl:B?
Ly slael Ol 5 o0
000000,100000000,85000000,160000000}
[guess] Ll J
LR
Function Arguments =]
IRR
Values | B1:87 = {-500000000;100000000;125000000;...
Guess | = number

= 0.136524017

Returns the internal rate of return for a series of cash flows.

Formula result = 0.136524017

Help on this function

Values is an array or a reference to cells that contain numbers for which you
want to calculate the internal rate of return.

[ ok || cance |
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Yy JusToml pn Jbozle

3903 JlAas
value2 VYo aas
value3 Yo aes
Value4 \O'."'
Function Arguments 2 ’=]
NPV
Rate 13% = 013 A
Valuel | -200000 = -200000 3
Value2 |120000 = 120000
Value3 110000 = 110000
Value4 | 150000 E®%:| = 150000 -
= 85219.77856

Returns the net present value of an investment based on a discount rate and a series of future payments
(negative values) and income (positive values).

Value4: valuel,value2,... are 1 to 254 payments and income, equally spaced in
time and occurring at the end of each period.

Formula result = 85219.77856

Help on this function [ OK ] [ Cancel ]

Jls

1l 5 ST s S N L5 5 L oS e e - b G s 2 5 2500

A B
1|4y = 4 u (500,000)
2 1Jdw 100,000
3 2 J 170,000
4 3 Jw 65,000
5 4 Ju (30,000)
6 5 Jus 150,000
7 6 Ju 110,000



Yy JusToml pn Jbozle
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LIS e

rate AR
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value2 Lo J=

Function Arguments |I| |E|
NPV
Rate 11% % = 011
Valuel B1:B7 8| = {-500000;100000;170000;65000;-300...
Value2 sl =
= -86793.14822

Returns the net present value of an investment based on a discount rate and a series of future payments
(negative values) and income (positive values).

Rate: is the rate of discount over the length of one period.

Formula result = ($86,793.15)

Help on this function [ OK ] [ Cancel
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DB(cost, salvage, life, period, [month])

Gty S3503
el ol Sl el eles sl cost
el OF e pae OLL 3 lls Blawl 33 salvage
ol olils e e life
ol Sl aculoes (gl i o period
55 St d dal dl 53 obls 5l eslazad cls ole sl [month]
WWo0ss J Cose s AL el gl = L dls
B
Jts

Yoweons Bl G550y e sad s GE e Gl e Jle SOl
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Formula result = 199375000%

Help on this function

S$2900

’ unction Arguments
DB
Cost 10000000 = 10000000

Salvage | 2000000 = 2000000
Life 5 =5
Period 2 =2

Month [ = number

= 1993750

Returns the depreciation of an asset for a specified period using the fixed-declining balance method.

Period is the period for which you want to calculate the depreciation.
Period must use the same units as Life.

cost A ERERRTY
salvage el ghyls Blisd (il Yorve e
life el JL 0 lyls e s (0
period RCOUW PO PP R P PR |
[month] o3 S eslizal sl Jla s glls Slele 0 0y 0




Cost | 10000000 ] = 10000000
Salvage | 2000000 (] = 2000000
Life s B - s
Period 2 B - 2
Month |5 B - s
= 2434895833

Returns the depreciation of an asset for a specified period using the fixed-declining balance method.

Month is the number of months in the first year. If month is omitted, it is
assumed to be 12,

Formula result = 243489583%

Help on this function
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DDB(cost, salvage, life, period, [factor])

Gty S3503
el ol Sl el eles sl cost
el OF e pae OLL 3 lls Blawl 33 salvage
ol olils e e life
ol Sl aculoes (gl i o period
S Sl Jsp Gy 4 Sl ales i b o o [factor]
Sy a8 03 (ielan Ji3) ¥ il

Jle

Bt il 5 dly Vo ond ol gl (bl G g Sl S

IS PSIPTRPCHN TIPS FUIEIR L RVA VA RTIPC A, S WS Py P BRI

J=

S350 oldzs

cost Wl s a3 pled (lgy VoL e e
salvage RGO P Y X o IS S PR SO
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Cost | 15000000 ] = 15000000
Salvage | 1000000 (] = 1000000
Life 6 B -6
Period 3 EE - 3
Factor | "“""be'
= 2222222222

Returns the depreciation of an asset for a specified period using the double-declining balance method
or some other method you specify.

Period is the period for which you want to calculate the depreciation.
Period must use the same units as Life.

Formula result = 222222222%

| Gncel |

Help on this function
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SLN(cost, salvage, life)

cats S3503
el 2l Fel e s les cost

el OF e pae OLL 3 lls Blawl 33 salvage
ol byl e e life

Jlws

bdi\)\:r.\};i:

Lo pae 5 b

\".nuu.uuu QTL

¢

S2907

cost Y)Y vee s
salvage ST

life I deie pes O

SIN
Cost | 11000000 [E] = 11000000
Salvage | 2000000 [E] = 2000000
Life s EE - s
= 1800000

Returns the straight-line depreciation of an asset for one period.

Life is the number of periods over which the asset is being depreciated
(sometimes called the useful life of the asset).

Formula result = 180000000%

Help on this function [ ok || cance |
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Formula result = 200000000%

Hel this functi

Cost | 16000000 [E] = 16000000
Salvage | 2000000 (] = 2000000
Life 6 B -6
Per 4 B - 4

= 2000000

Returns the sum-of-years’ digits depreciation of an asset for a specified period.

Per is the period and must use the same units as Life.
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PV(rate, nper, pmt, [fv], [type])
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Function Arguments (=]
PV
Rate 2% = 002
Nper 24 = 24
Pmt | -1000000 £&:| = -1000000
Fv =
Type %) =
= 189139256

Returns the present value of an investment: the total amount that a series of future payments is worth now.

Pmt is the payment made each period and cannot change over the life of
the investment.

Formula result = 1891392560%

Help on this function [ OK ] [ Cancel




V¥ st o mls p Jlo aalgs

R/

s 1y s sty bl il Sl g SO LS wle e S ST 25 = o
1l 23 S gy JeSTdsa 3 0l 53 8 (pl Jse b s

FV(rate,nper,pmt,[pv],[type])

(Gatts RLEPS)

).))I/.Yf, c\) LY c;@;_;\ e o)jbjké\ﬁ C\) oy CJ_: rate

(eLoJ.A) c\) 0,95 A o g CJ.’ cr.yib s CA:-‘JJ.&\Y JLAJJA

ol 1Y
Jlo 2 3 5 dlaYply@te S1.a3b e ols JS bL3I sl nper
AL e B3 Y LLS| S sl ol a3 Y
AL mepss a8l 5L Exs pmt
@_M?ya%i,ssﬂg.w\bwéggu@,\ [fv]
Bl
> bl e 58 L P | o ST bLSI 6 [type]

gl s bLlagd o 508 il Vade 1558 a 0LL

SN CIC N VG WP T ST R

d‘j:d‘dbﬂ&‘fMJL;OC)J.,‘J.’L}_’[AJ&LAWL‘?L)@U‘:)}JJAPMT CL,AC@

JJ’CL") c‘jbu\l.ia)b-\ C,}-‘Jﬂjuk{).}

9 .J\.,j...u J‘)\j g_,...I.c .J\.iLs ERCLEEY 2 A9 okad u.';:a.‘].e‘ Q‘)_.x_: S39,9 LSLA dl‘.’.j}@
sl 3l e Ll 2 sla 0L S
Jle

A OLL s Juy Ve e oS L Y ol sl 3 Gl (8L Wl ST 05

TS il Y8 VL 6y 55 L 15 350 e Lo sl



VAV st o mls pm Jbo aaled

J=

S3503 e
rate 1> S3L53 LY Jle s 5 Sl UTE Dl a0 o Y
L e LY a3 m e e ol by
nper s 13 353 VY Sl a3 5 dle Y oslal ke g (Y8
A3l e YE ol S
pmt g Al e ool Dl 35 305 e S (e ees)
oSl
[fv] S0 8 sl e J Jle ol s
[type] 35 o ploil ay0s A TS ES s 3 O« JS L

S LY STV ATY s @l S ST 25

Function Arguments 7 [=]
FV

Rate 2% = 002

Nper 24 =4

Pmt | 1000000 = -1000000

Pv =
Type =
= 3042186247

Returns the future value of an investment based on periodic, constant payments and a constant interest rate.

Pmt is the payment made each period; it cannot change over the life of the
investment.

Formula result = 3042186247%

Help on this function OK ] [ Cancel
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